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SECTION A COMPOSITIONHealth and Wealth, Which to Prefer?

“Health is wealth!” This is an old saying which the majority

applaud. Generally, the wealthier you are, the weaker is your

health.A person that has health can afford to challenge all hardship.

For example, bluecollar workers are very energetic. With their

energy, they earn their living. Although such occupation brings little

reward as compared with the energy they have exerted, they enjoy

life whatever things may be. Frequently we find millionaires cling

close to their doctors for they seldom have enough exercise to bring

forth better health. Their lack of exercise slackens the readiness of

growth of the antibodies to resist the attack of diseases.Business is

based on health. Surely, in good health a student can absorb

knowledge more readily. And, being in good health, a scientist can

achieve more success whereas, the weak learner loses his ability to

tackle the complex technical problems. Would we find real

happiness if we were rich but had to go to the hospital frequently? So,

what can we benefit from wealth if we do not have health?SECTION

BNOTE-WRITINGDear Mike,I’m sorry to say that I won’t be

able to join your party as I’ve promised.My brother unfortunately

caught a bad cold and he has no one to take care of him. I have to go

to the hospital to accompany him these days.I hope you’ll have a

wonderful time in your party.Yours,AndyPART Ⅲ LISTENING



COMPREHENSIONSECTION A STATEMENT1. 答案 C【试题

分析】本题是一般推理题。【关键词语】 since,left,instead of【

详细解答】首先要听清句子大意，即由于音乐会的票弄不到

了，我们去看电影而不是回家吧。其次，句子中提到了三件

事，即音乐会、看电影、回家。然后逐一分析，音乐会是没

票了，这一点很清楚。instead of后跟的是回家，即原计划是

回家，现在是想做 instead of前面的那件事。当然，由于时间

关系，做题时应迅速摒弃音乐会、回家的选择，直接用排除

法找到正确答案。2. 答案 C【试题分析】本题是词义辨析题

。【关键词语】 caught my eyes【详细解答】本题的关键是理

解caught one’s eye这个词组的意思，即吸引某人的注意力，

了解了这一点，问题就容易解决了。3. 答案 B【试题分析】

本题是计算题。【关键词语】 on sale,half price【详细解答】

做本题的关键是听清第一个价格和折扣率。通常数字型题的

答案不会是第一个数字，要做一定的计算。本题第一个数字

是$80，折扣率是half price，一除即可算出$40的答案。4. 答案

A【试题分析】本题是计算题。【关键词语】 couldn’t,left

with,one third of【详细解答】本题的第一数字是$600，且应听

出是花费了$600，折扣率是手中剩下原来的1/3，那么$600是

原数字的2/3，既然问题是问原数字，$900应该不难算出。同

理，如果问手中还剩的数字，就是$300了。5. 答案 D【试题

分析】本题是一般推理题。【关键词语】 dozed off【详细解

答】如果能听明白且理解dozed off的意思，本题并不困难。

既然Mary在看电影时睡过去了，说明电影不好看，烦人。6. 

答案 A【试题分析】本题是一般推理题。【关键词语】 fetch

water,a lot less,complicated【详细解答】本题句意是这样的，尽



管桑蒂不得不到湖里打水，她仍认为乡间生活比城市生活简

捷方便得多。难点在a lot less complicated than.乍听之下，好象

是城市生活要好，但如果用心一点，回头分析一下那

个Although，应能找出正确答案。C、D是干扰选项，不予理

会。7. 答案 C【试题分析】本题是语义辨析题。【关键词语

】 before,found【详细解答】如何理解句中的before是关键所

在，容易与完成时态的before即是一般时的ago混淆。但加以

区别的方法有其后的found，想一想，“⋯⋯才能找到时间去

打电话”，说明这三天都没空，这样就豁然开朗了。8. 答案

B【试题分析】本题是推理题。【关键词语】 not

allowed,dormitory【详细解答】分析在什么情况下说这个句子

很重要。也许在B项后去掉here加上in the dormitory，问题就

解决了。想象speaker是在dormitory说的这话。至于A，C，D

项，都风马牛不相及，使用排除法做本题也是个好办法。9. 

答案 A【试题分析】本题是语义辨别题。【关键词语】

pay,foolish,for nothing【详细解答】如果使用日常经验来分析

四个答案，应能迅速理解speaker的意思“既然可以不花钱在

电视里看这场电影，那何必去电影院看呢?”不少人都有这种

心思的。 100Test 下载频道开通，各类考试题目直接下载。详

细请访问 www.100test.com 


